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AEEEc 2HU|(SHEHEL) 3,000,000
of 22| = EH(21200,000+12% ) 2,400,000
QIE7| A el 2HH|(}3IE 5) 5,000,000
s Y Mojup Fo|(EFH 2 7,000,000
AretE ot §ols| Ad| e 2,000,000
A LA Y ABEFFE(MEEES) 7,000,000
SIAZ2OY ALE 2 AB{E k| 2,000,000
IEF7| 2 22| 2HH|(LH) (1,320,000)
2 A 32,080,000
(3)Md &g x| | 3,000,000 3,000,000
7t ntet2 5tk |
LE X AT A E 24 S S| 3,000,000 3,000,000 WA XAMMA £ S 3,000,000
(4)7| ELX| 2l H] 276,442,674 222,235,217 54,207,457
7t 7| EFX| 2| 276,442,674 222,235,217 54,207,457 |2 EAIY MA ZAZ 3,000,000
(S A178) AHAALY T EFX| 21| 106,000, 000
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9/12




= LHA)

5

Off £0A (

7] 20214 03¥€ 01YFE 202244 02% 287K

HE8E

=
T

| Al AT 3K}

k=1

2021

siglslgl | |glglg SEEEEBEEEE
ﬁN Os ﬂv! nU.. Os nU1 AU.. O; Oa O: 4: 3: 4: 4: Oa 4:
3181818 31818 SN EENEEE:
unw _A.v, 9: Olw ro.. Oan1AU.. O; Oa R1u: 7: PO: AU: n/_: 81 3:
[aVA B¥o N apl IR J o|lo|lo J|N|O|F|O| OOl —
rio i et 21V RN L= 2128
37
NIl
no) fo
Jor | 76r
®o[ %0 — —
K0| K0 =13 _[=fC
KKV =r| ol =l =
= ImM_onm_ox(Hm
Ofr | ofr o [N Z| T K| 2T
EllE] —|z|==z|2E 2|2
Pyl e 0 N = 3 S e T
o’fo i | i
T RT|RT| _ IIE[REF| R x| TR0
i EUEUR) = 0| 0| ToH | o | RO | | RO )
% 0| Ho[ 44 4 Wm ol | of qw._ | ofr W_._ ol | Ofr
<l o[ o0 %ME%ME%ME
of | | 4 — El P RE] R RE! 50
= <= 3l | B0 <[ = | 1| < | 2| BT <
%@@ Klo %Mao%Mao%Nrao
palirdl _.__”_m_u\ S| || S| Z k| S| |0
a1 | o[ ot SHHEEEHEEEE
Lo B B i ki S22 = =5
Kl 0| %0 Z| = @%@.%@@.@%@.
mMo_uo_u TIT OF] o[ | oF| OF[ X | o[ 0F] 2
z|o|e == —lelslzlel sl el s
u_‘tt ElIE <A =< < =< <) =
—| ®r | ®r Y LN L L L LI LI
of | —|— jol" | ol —|—|Z|=| 2 ===
1|1 | [ B | o o o
© © o
27 27 nU.,
. & & |12
o 27 27 _.O..
* < < N
~
Klo
ol o o (=) =) Ne) (<o} (<o} o
oo o o|lo| o <t < ©
S e S IS Sl o o @
— ol o o (=) =) Ne) (<o} (<o} <
o| o o o|lo| o Al Al o
HZ 21 A I et S & S
Bl il = ol olo © < )
= NI < < IR
o RO < < —
X K
KK
(a\]
oo o o|lo| o © © o
38| |8 388 S 3| |E
— ol|lo = ol ol o o N Iy
_|T_A ol o o (=) =) Ne) Y] Y] Yo
el ot )| el © A RS ) B B «
8l <l < | < < olo|o o 0 ©
T3 =[] ™ NI £ ? (R
o RO - b =
5 K
QK
o
Kl
K
Pl - urf [
A O S R
= ROl ok il _M___ NEE K
| = _M__E [0t o ro ._N“_ ok Ko = __Ala_ E_.l
o | O (3 |3F{ 0 for| | M [EO a__x____m i Ao = (3]
E:T_...:_u@@m_w_ o | R z| [RER|K |z
RC| M| MO oy | T (N | | = | = 1 [ | 90| X (UK f e ulr {ulr
= Qﬂwon_oﬂ.ﬁﬂ ._x.___le_.__% ﬂﬂ%@%@nﬂ@ﬂ
o bl o B R e IS T Ee  Y el PA
Z |0k Dl i POl PO K Il LS
o | % wr | O g
3= HZ IR Z|ZZ|IER|= (S
R Jol w__u______' 0F
© © K|—= ~
=] It
100 &
=

10/12



20215 A AT 3 FIIAA

7] 20214 03& 012

ofl &4 (8

A FE 20224 022 28 77HX|

54 04| £HA)

(2l #)
o = 20215/ Al = 20215 A H = =2H(A-B) AT = o
:.&lg-l = 3R} E=Zof &H(A) 2R} %2 of £H(B) =7 -t =
HAHEFME Mo|LA BHA T M| 57,000,000
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&~ A 1,798,353,160
) TEEHNSE
(4)Z21HZ| 55 2,153,106,388 2,152,830,618 275,770 [(SHA1R8)AHAAY 2| AHIZ| 7 35 1,009,790,000
(SA3FE)AHAALYE 2|AIZ|F £S5 140,114,000
(LINCH) AFSIHE AL ZIAIZ|1F F 5 600,832,000
WEAT IAI|F FE 5,000,000
SEUSHSV|EXEY I FE 29,700,000
(HA1 7S )AHAA Z|H 7|7 FS(SN) 137,706,820
(AT )AHAMALY Z[HZ| T FS(EN) 4,090,080
(LINCH AL SHESH ALY ZIAH 7| FS(HH) (117,074,129)
(A1) AHAAEL ZIAH 7|7 FIS(SNH) 200,938,018
(SA3FE)AHAALY Z|AIZ| 7 FS(ENH) 54,054,090
(LINC+)AF§I5‘¢§0M°=1 1A 7| FS(EH) 74,637,739
HEEFHE Mo ’é‘ 1A+ FS 15,000,000
S ENSIET|E 2 I|AZ|T FS(HH) (1,958,000)
(S A1/EA3/L INC+AF°*)7|74|7|—TL FH=(E3Y) 275,770
2 A 2,153,106,388
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